

B - NOTICE INVITING BID



RAJASTHAN STATE ROAD TRANSPORT CORPORATION

Sikar, Depot

e-mail:- rsrtc.cmskr@yahoo.com

No. -329

Date: 28-01-2026

NOTICE INVITING BID

Route wise operation for 17 + Driver & Above Seater Deluxe Vehicle in the Rural area of depots under the control of RSRTC on Revenue Sharing Basis

Online Bids in the prescribed form are invited for Route wise operation for **17 + Drive & Above Seater** Deluxe Vehicle in the Rural area of depots under the control of RSRTC on Revenue Sharing basis is as under. The detailed information of the Bid available at RSRTC website - <http://transport.rajasthan.gov.in/RSRTC/>, <http://sppp.rajasthan.gov.in> and also on <https://eproc.rajasthan.gov.in>.

Online Bid will be accepted on above website upto 13-02-2026 upto 17:00 hrs. and will be opened on 17-02-2026 at 11:00 Hrs. in the office of the undersigned.

Sd/-
Chief Manager, Sikar Depot

RTC 2526 A0660

RTC 2526 SLOB0076



RAJASTHAN STATE ROAD TRANSPORT CORPORATION

OFFICE OF THE CHIEF MANAGER, SIKAR DEPOT, SIKAR

TEL. No. 9549653221 Email I.D. rsrtc.cmskr@yahoo.com

NIB NO. RSRTC/SKR/GEN./GPS/26/ 329

Dated :- 28-01-2026

NOTICE INVITING BID

BID FORM FOR DEPOT WISE OPERATION OF 17+ Driver & above SEATER DELUXE VEHICLE IN THE RURAL AREA OF DEPOTS UNDER THE CONTROL OF RSRTC ON REVENUE SHARING BASIS BID FEES AND IMPORTANT DATES

Schedule of Bidding Activities

S.N	Item Description (Providing of vehicles)	Estimated quantity of vehicles	Cost of Bid documents (Non refundable) in Rs.	Bid processing fee (Non-refundable) in Rs.	Bid Security for financial bid. (Refundable) in Rs.	Pre-bid meeting date
						Last date of bid submission
1	2	3	4	5	6	7
1	Operation of 17+ Driver & above seater Deluxe vehicle in the Rural area of depots under the control of RSRTC on Revenue Sharing basis	08	11800/-	1500/-	55,000/- per vehicle	13-02-2026 17.00 hrs
						17-02-2026 11-00 hrs

Notes:-

- 1- All above events will be held at Depot of Rajasthan State Road Transport Corporation (RSRTC).
- 2- In the event of the date specified above being declared as a holiday for corporation the due date will be the following working day.

Tentative Route wise requirement for 17 + Driver & above seater Deluxe Vehicle in the Rural area of depots under the control of RSRTC on Revenue Sharing basis is mentioned below :-

क्र. सं.	आगार	प्रस्तावित मार्ग का नाम	प्रस्तावित मार्ग से जुड़ने वाले स्टेप्सों के नाम	एक तारफा कि.मी.	प्रस्ता वित परिच क्रों की संख्या	कुल प्रस्ता वित कि. मी.	राष्ट्रीय कृत मार्ग पर प्रतिच्छाद (Overlapping) कि.मी.	कुल प्रस्तावित वाहन
01	सीकर	मारु स्कूल – लक्ष्मणगढ़	सीकर-मारु स्कूल-जगमालपुरा, झीगर, आकवा, अजीतपुरा, थौरासी,लालासी, बऊ, शिवराम का बास, नरोदड़ा, लक्ष्मणगढ़	45	6	270	0	01
02	सीकर	सीकर – कोलिडा	सीकर, कुड़ली, कटराथल, जेरठी, कोलिडा	26	10	260	5	01
03	सीकर	सीकर-कूदन	सीकर, कुड़ली, कटराथल, गोठड़ा भुकरान, जेरठी, कूदन	26	10	260	5	01
04	सीकर	सीकर – खण्डेला	सीकर, गोकुलपुरा, रामू का बास, मलकेड़ा, बाजोर, गोरिया, टोडी माधोपुरा, सागंरवा,पलासरा,बाराल, श्यामखुड़, गुरारा, खण्डेला	44	6	264	8	01
05	सीकर	सीकर – सालासर-खाटूश्यामजी	खाटूश्यामजी, आलोदा, डुकिया, कोछोर, जीणमाता, रैवासा, बाजोर, सीकर, पालवास, तासर, दूगोली, टाटनवा, सेवदबड़ी, दीपपुरा, सेवदबड़ी, सुटोट, जाखला, तुकर्सिया, रामसिंहपुरा, मानसी, कृपाराम की ढाणी, सुतोद,मगलुणा,जुलियासर,सालासर	132	2	264	10	01
06	सीकर	खाटूश्यामजी – सालासर	खाटूश्यामजी, जीणमाता, रलावता, रुपगढ़, खुड़, लोसल, शाहपुरा,नेछवा, गनेडी,सालासर	114	2	228	14	1
07	सीकर	खाटूश्यामजी – सालासर वाया कोछोर	खाटूश्यामजी,आलोदा,डुकिया,कोछोर, जीणमाता, रैवासा, बाजोर, सीकर, कासली,धोद, शाहपुरा,नेछवा, गनेडी, सालासर	123	2	246	14	1
08	सीकर	खाटूश्यामजी – सालासर वाया तासर	खाटूश्यामजी,आलोदा,डुकिया, कोछोर,जीणमाता, रैवासा, बाजोर, सीकर, चन्दपुरा चौराहा, पालवास, तासर, दूगोली, टाटनवा, बिन्जासी, डुकिया की ढाणी,फतेहपुरा, शाहपुरा, झाझड़, झिलमिल, शाहपुरा, नेछवा, गनेडी,सालासर	123	2	246	14	1

Note:-

1. RSRTC reserves the right to increase or decrease the estimated quantity of the vehicles at any stage.
2. Route wise requirement of vehicles and tentative list of routes are as mentioned in bid FORM A.
3. The successful bidder will ensure that these 17 + Driver & above Seater Deluxe Vehicles should be registered after 01-10-2021 and in case of Petrol/CNG/Diesel vehicle it must comply BS VI emission norms.

4. The bidder has to submit his offer:- As per the route wise requirement of the Depot as mentioned in the table of Bid Form.
5. The technical bid without any of or all of the required cost of document/bid processing fees/BID SECURITY mentioned in column No. 4 to 6 of the above table shall be liable to reject such Bid, for that such Bidder shall be fully responsible.
6. Bid documents can be seen and obtained from:
<http://transport.rajasthan.gov.in/RSRTC/> & <http://sppp.rajasthan.gov.in>
& <https://eproc.rajasthan.gov.in>
7. RSRTC at its sole discretion and without assigning any reasons thereof reserves the right to accept or reject any/all Bids at any stage.


Chief Manager
RSRTC SIKAR DEPOT